Date from to H7dy EH 24
20-Aug 8:00 8:45 KE/L—=29
Sat AL Z—TF4VY
8:45 FLR-Z—F42
DAY 1 8:45 9:00 48—\
9:00 9:30 BEF>a=7 )y F1EE
9:30 BFPa=7 RAVRL—Z 10 km &
10:40 BFU17 RAVRL—R 7.5 km &
10:40 BFoaz7 R959F 5km FiE
11:10 11:15 A 53—N)L
11:15 &FU15 BN 78—>2—k(2km) RB
ZFU17 BN/ 8—> 21—k (2km) RS
B¥FU15 BAN/3—>2—k(3km) R
BFU17 B A/ 8— 21—k (3km) R
RFDa=7T fBAN78—> 2—k(2km) &
13:55 BF>a=7 B A7 8—2 21—k (3km) FiE
13:55 14:00 A25—\ )L
14:00 14:30 BF>a=7 TA)Y WERITE
14:30 14:50 s
14:50 ZFU15 BAN/8— 2 —k(2km) RER
BFU15 B A7 8—2 21—k (3km) =ERX
ZFU17 B A/ 8—> 2 —k2km) =ER
BFuU17 fBAN78—> 21—k (3km) RERX
ZFLa1T B A/ 8—> 22—k (2km) 3445 R TEE
BFDA=T BAN78—>2—k(3km) 344 R TE B
ZFDa1zZ7 BN 78— 21—k 2km) 1-2(3 R T B
15:35 BF¥>a=7 B AN78—> 23—k (3km) 1-2(L R E B
15:35 15:40 48—\
15:40 15:50 EF>a1=7 )y HFE2EE
15:50 BFOaA=7 A9ZvF 10 km RE
16:40 TF1=7/U17 RAURL—2R 15 km R
16:40 16:45 A=\
16:45 BFPa=7 A T-1260 R E
17:00 EF>a=7 TA)Y RB
17:00 ZFDa=7 B A/ 8—> 22—k (2km) =RER
BFOa=T & A7 83— 22—k (3km) ®ER
BFoa=7 Z959F 10 km xER
ZFT2=7UIT RAVRL—R 15 km =ERX

17:25 BFoa1=7

TA)Y

RER




Date from to H7dy GiA=] 24
21-Aug 8:00 8:45 KE/rL—=2Y
Sun aAZE—IL-Z—F4Y
8:45 TLR-Z—=F42Y
DAY 2 8:45 9:00 A8—NIL
9:00 XFTPa=7 2Tk F3#(200 M FTT)
9:45 BF2a=7 ATk F3E(200 M FTT)
9:45 9:50 A23—\)L
9:50 ZFU15 500 m A LLSATIL RE
10:20 ZFU17 500 m AL LLSATIL R
10:20 BFU15 1km 24 LMSATIL R
10:50 BFuU17 1km B LESATIL R
10:50 10:55 A3 —INIL
10:55 BFaz7 ATk /43R (51 EIE)
BFaz7 ATk 1/4;R B (E2EER)
11:25 BF2a=7 2Tk /43R B (B 3E8)
11:25 11:30 A58 —INIL
11:30 ZFLa1ZT 500 m 24 LMSATIL R
12:25 BF>a=7 1km B4 L+SATIL R
12:25 ZFU15 500 m A LLSA4TIL =ERX
ZFU17 500 m 24 LMSAT7IL KER
BFU15 1km 24 LMSATIL RER
BFU17 1km 24 LESATIL ®ER
BFS21Z7 500 m 24 LMSATIL ®ER
12:55 BEF¥>a=7 1km #2ALESA4TIL =ERX
12:55 ZFLa1=7 ATk 1/2iR (1 EI8)
BFOa=7 ATk /2R (E1E5)
BFoa=7 ATk 5-84i R TE Bk
TFL1ZF ATk 1/2:R B3 (B 2[E15)
BFaz7 ATk 1/2iR (2B 8)
XFOa=7T ATk 1/2R B (E3EER)
13:30 BF>a=7 ATk 1/2:R B (B3R E)
13:30 13:35 A5 —I\IL
13:35 BFU1T7 RAUEL—2R 15 km R
14:40 BF>a1=7 RARL—R 25 km R
14:40 14:45 A2B2—IN)L
14:45 ZFLa1=Z7 ATk 3-ABLRFEH(ZE 1 EE)
BFDA=T ATk 3-Af R TE B (5B 1 EIER)
ZFLa=TF 2Tk 1-243L 3R 7E B (55 1 [E1 )
BFTaz7 ZATYUk 1-2481 3R E B (55 1 [E1 )
TFOa=7T ATk 3-AT R E B (B 2E]E)
BFDA=T ATk 3-Af R TE B (SE2EER)
XFDa=7T ATk 1-23 iR FE B (55 2[E1 B)
BFTaz7 ZAFTYUk 1-2{81 3R 7E B (SR 2 [E1 8K
LFDa=7T Y UM 3-A R E B (SE3EER)
BFDA=T ATk 3-4f R E B (SE3EER)
G P iy 4 2Tk 1-243L 3R 7E B (SR 3 [E )
15:15 BF>a=7 ATk 1-2(30 SR FE B (55 3 E1E)
15:15 BFU17 RAVRL—Z 15 km REX
BFa=7 RAURL—2R 25 km ®ER
BFS21ZT 2Tk &R
BFDa=7 ATk RERX
15:50 EiE=S JOCHhY I B E




